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N BACHELOR'S DEGREE PROGRAMME 

Term-End Examination 

Nts 	 June, 2011 
O 

(APPLICATION ORIENTED COURSE) 

AMK-1 : MARKETING 

Time : 2 hours 	 Maximum Marks : 50 

Note : Attempt both Part - A and Part - B. 

PART - A 

Attempt both the questions. 

	

1. 	Distinguish between any two of the following : 5+5 
(a) Production concept and product concept of 

marketing. 

(b) Speciality goods and shopping goods. 

(c) Fixed price and Variable price. 

(d) Intensive distribution and Exclusive 
distribution. 

	

2. 	Write short notes on any two of the following : 5+5 
(a) Market segmentation. 

(b) Reasons for the failure of new products in 
the market. 

(c) Total cost approach of physical distribution. 

(d) Ways of generating publicity. 
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PART - B 

Attempt any three of the following questions. 

3. A consumer wants to buy a laptop computer. 10 
Explain the buying process he would follow for 

the purpose. 

4. Explain the concept of product diversification and 5+5 

state its advantages in marketing. Also explain 

briefly the different product diversification 

strategies. 

5. As a marketing executive you would like to charge 10 
different price to customers located in different 
geographic locations. Discuss various geographic 
pricing strategies considered suitable in this 

context. 

6. Explain briefly the various tasks performed by an 10 
efficient physical distribution system. 

7. What is sales promotion ? Discuss major sales 

promotion tools adopted by marketers for 

promotion of sales at consumer level and at trade 

level. 	 2+4+4  

8. (a) Why are channels of distribution shorter for 5+5 
industrial goods as compared to those for 
consumer goods ? 

(b) Enumerate the qualities of a good sales 
person. 

AMK-1 	 2 



7.7.*.-1 

form :2 sr4 
	

alfaiWUTI 37.-W : 50 

VF: %FT - UelT %FT - 011* dm fif/7/ 

4 -4Y51k11 3-1T WI§R 

	

1. 	PV-Ifilfigti -4A f;h..674-). 	: 	5+5 

(a) fqtru9 	3011c-i 44)(A-111 MIT 3CA-11‹ ticbC4-111 

(b) 1e4TIZ MIT 	 

(c) ffeTT m14-ici -ffeTT 41'04140 chli-icr 

(d) TIC fdaut'ffv-TT 	fdff{7 

	

2. 	111-licifigcf -4A fehj#TR TART r3.41.1qtfFruR : 5+5 

(a) eqmit 4s1cbtui 

(b) 77 3070* tsiom aTITEFF t4* chRui 

(c) (1-K7W f4 a117   3T4N171711 

(d) 31-47* Tstf lireT7 

AMK-1 	 3 	 P.T.O. 



14TT - mod  

i.gcr 4 A.  P*7.6 • a7-q. 	dlt tftg7 

3. 	3q 	1T Leh *rat tila-TITT1-q9-r I h 	I t ITffk 10 

-5&71T WriTTIT 3TI-4.  0411(9441 W77 I 

4. dcLilq f4Nt11-*731 	 oqitse.11 W11-4RCWT 5+5 

fatrari 4 74* 	*r 3 	F-A-R I few W-11‹ 

fqfqtft7171-NTP:4 	Tf41 otiksell Wit4R I 

5. "crW fdEPTIff 311t1Wfft - t114 3Trq -Few TerA -fterd 10 

ixrr4 3T-oTr--3T-oTr 	f tI chP I 74 14-0 

few z-triwr 1411f-e-* rfitTitur frquz4 

*IF-77 

6. R'W TVr-  4f-d* fauur n fm` 	.a-Ac few (4,Iy1 10 

-1•1:f4q 4 0411tY41 .4"r771 

7. twzr Tfq4-9. *r *Err ffroal t ? 3cri.4-1?rr 7r.{P.Tr 

	

RILlul-lchliat gRI fa it #44"ff 	ro 

,31I 	TPAaZ Mqff W-A7 I 	 2+4+4 

8. (a) 3tfilWIT a t.clat 	13*T-4-  3fr-thfrrw CI 	3T * 5+5 

fq-dtur TrrtzFr 	a:EW X11 t? 

(b) L 	cr) 31" rasbqcbli 	•Wr 3- 7§T'Of7R1 

AMK-1 	 4 


	Page 1
	Page 2
	Page 3
	Page 4

